

Republic of the Philippines CAVITE STATE UNIVERSITY Don Severino de las Alas Campus

Indang, Cavite, Philippines (046) 889-6373 www.cvsu.edu.ph

INVITATION TO SUBMIT QUOTATION Supply and Delivery of Kitchen Materials and Equipment for CvSU Gentri Campus

 The Cavite State University (CvSU) invites interested firms/supplier to submit quotation for the project "Supply and Delivery of Kitchen Materials and Equipment for CvSU Gentri Campus" with an Approved Budget for the Contract (ABC) Three Hundred Sixty Thousand Five Hundred Ninety-One Pesos and 33/100 Only (PhP 360,591.33). Quotation received in excess of the ABC shall be automatically rejected at the opening.

Item No.	Quantity	Unit	Description	Unit Cost	Total Cost
1.	1	Pc	Book Cart 90cm x 60cm Capacity: 300kg Net weight: 11kg Platform to ground: 19cm Platform to height: 87cm Wheel size: 2 fixed wheels, 2 rotating wheels	25,000.00	25,000.00
2.	1	Pc	Bar Mat Size: 30cm x 45cm Material: PVC Silicone Rubber Color: Black	2,675.00	2,675.00
3.	3	Pcs	European Bar Spoon 30cm Material: Stainless steel Flat disk or coin tail muddle end design	174.00	522.00
4.	3	Pcs	American Bar Spoon 26cm Material: Stainless steel, red knob end design Spiral handle	378.16	1,134.48
5.	3	Pcs	Japanese Bar Spoon 12 inches Material: Stainless steel, tear drop end design	754.00	2,262.00
6.	3	Pcs	Hawthorne bar strainer Material: Stainless steel Brand: Barfroee Weight: 3.2 ounces	399.04	1,197.12
7.	3	Pcs	Fine Mesh Bar Strainer Material: Stainless steel Brand: BarSoul Dimension: 20L x 8W x 5H cm	696.00	2,088.00
8.	3	Pcs	Julep Bar Strainer Material: Stainless steel Brand: A Bar Above Dimension: 7"L x 3.25"W x 1.25"H	754.00	2,262.00
9.	3	Pcs	Cobbler Shaker Material: Stainless steel Brand: Bar Up Dimension: Height – 255mm Diameter - 90.000000mm	2,450.00	7,350.00

			Net weight - 0.260000kg			
			Boston Shaker			
10.			Material: Stainless steel			
		Pcs	Brand: Bar Up	1 240 00	4 000 00	
10.	3	PCS	Dimension: Height – 175mm	1,340.00	4,020.00	
			Diameter - 90.000000mm			
			Net weight - 0.210000kg			
			French Shaker			
11.		Pcs	Material: Stainless steel	1,499.00	4,497.00	
	3		Brand: Barbits			
11.	3		Dimension: Capacity - 600ml			
			Height – 227mm			
			Diameter - 91mm			
			Stainless steel funnel			
12.	5	Pcs	23cm x 31cm	148.00	740.00	
			Stainless steel			
13.	2	Pcs	Ice scoop 24oz Aluminum	638.00	1,276.00	
14.	3	Pcs	Ice tong Size - 15.5 x 2 cm	533.02	1,599.06	
			Material: Stainless steel		1,222.22	
			Ice pick Total Length: Approx. 5.5 inches			
15.	3	Pcs	(140 mm) Grip: Approx. 3.5 inches (88	350.00	1,050.00	
			mm)		,	
			Needle Portion: Approx. 2.0 inches			
16	2	Doo	Double Jigger 30ml to 60ml Two-sided	070.00	1 740 00	
16.		Pcs	cocktail jigger 30ML 1 Oz & 60ML	870.00	1,740.00	
			2 Oz - Flip for different measurements Tall Endurance Jigger 1oz to 2oz			
17.	2	Pcs	Stainless steel	884.00	1,768.00	
			Multilevel bar jigger			
18.	2	Pcs	Capacity: 100 Milliliters	417.02	834.04	
10.			Material: Stainless steel			
	2	Pcs	Plastic bar jigger	304.50	609.00	
19.			Capacity: 1-1/2 Oz			
			Material: Plastic transparent/clear			
			Jigger Cube			
00			3" on each side Holds 0.5, 0.75, 1.00,	4 440 70	4 440 70	
20.	1	Pc	1.50, 2.00, and 2.25 ounces	1,440.72	1,440.72	
			Material: Aluminum			
	1	1 Pc	Plastic Pourer	399.04	399.04	
21.			3cm x 6.5cm			
21.		ı	10	Color: Black	000.04	000.04
			Material: Plastic/Silicone			
	1		Steel Pourer	667.99	667.99	
			Material: 304 Stainless Steel + Silicone			
22.			Combination Specifications: 6 x Wine			
		Pc	Pourer			
			6 x Long Cap 1 x Brush			
			Size: Approx. 11cm / 4.3in			
			Weight: Approx. 100 g / 3.5 oz			
23.	3	3 Pcs	Wooden muddler Material: Wood Size: 12 inches	573.04	1 710 10	
			Dimension: L31.8 x W4.4 x H4.4 cm		1,719.12	
			Stainless steel muddler			
24.	3	3 Pcs	Material: Stainless steel/silver and black	405.42	1,216.26	
			Size: 3.4 x 20cm			
			Weight: 96g			
			Troigin. 00g			

25.	3	Pcs	Counter top coffee maker Voltage: 220 – 240 V Cord Length: 0.85cm Frequency: 50/60 Hz Capacity: 0.6L Brewing time: 10 minutes	1,098.00	3,294.00
26.	1	Pc	Ice box 20 liters Color: Blue Material: High quality plastic	2,889.75	2,889.75
27.	1	Pc	Portable bar sink Ice bin with 1" drain & closing valve; Heavy Gauge 304 Stainless Steel; Polyurethane safety-locking casters 4" swivel casters, Dimension: Unit: 60" L x 23.5" D x 48" H Ice Bin: 25" L x 18" D x 11" H	83,987.00	83,987.00
28.	1	Рс	Cork board 90 x 60CM Oak Finish Frame	1,653.75	1,653.75
29.	1	Рс	Industrial Oven – 3 layer Specification: Six-tray/ Three-layer Voltage: 220V Power: 360W Capacity: 120kg/h Net Weight: 480kg Water proof grade: IPX4 Gas pressure: 2800Pa Thermal load: 96MJ/h Tray size: 60 cm x 40 cm Chamber size: 86.5 cm x 65.5 cm x 22.5 cm Dimensions: 134 cm x 87 cm x 178 cm Temperature range: 0-300 Degrees Celsius	30,000.00	30,000.00
30.	8	Pcs	Roll Tap Chafing Dish Buffet Set Stainless Steel Chafer and Buffet Warmer (round, 6L) Capacity: 6.5L Material: stainless steel, single burner vessel Shape: Round Round Roll Top Chafing Dish, Stainless Steel Body,Brass Curved Legs, Dome Cover, with Stainless Steel Food Pan, Water Pan, Wind Block & Burner Holder	5,000.00	40,000.00
31.	1	Pc	Stainless Preparation Table Material: Stainless Steel, 3-layer Dimension: L100cm x W 60cm x H 80cm	5,000.00	5,000.00
32.	1	Pc	Industrial Range Stainless Material: Stainless steel Number of burners: 4 Burner Head: Brass Knob Material: PVC Height: 3-4ft	15,000.00	15,000.00
33.	10	Pcs	Baking Pan Material: Aluminum Size 18inchesX 13inches	1,000.00	10,000.00

34.	4	Pcs	3x5 whiteboard Size: 3ft x 5ft	2,300.00	9,200.00
35.	1	Pc	Blackboard Melamine Writing Surface Black Board, Board Size: 12x18 Inch	1,500.00	1,500.00
36.	6	Pcs	4 seaters stainless steel gang chai 4-seater gang chair with backrest Material: full Stainless Steel Color: Silver Dimensions: 238(W) x 66(D) x 80(H) cm Weight: 36kgs	15,000.00	90,000.00
TOTAL AMOUNT				360,591.33	

- 2. Delivery Period: ____ calendar days from the receipt of P.O.
- 3. Price quotations must be valid for a period of sixty (60) calendar days from date of submission and shall include all taxes, duties and/or levies payable. Bidders shall also indicate the brand and model of the items being offered.
- 4. Warranty shall be for a period of six (6) months for supplies and materials. Warranty for equipment must not be less than one (1) year from the date of acceptance and shall be accompanied with Warranty Certificate.
- 5. The quotation must be submitted to the Procurement Office through mail, fax or email at the contact details listed below **on or before 5:00 PM of April 8, 2024.**

Address : Procurement Office, Administration Building

Cavite State University

Indang, Cavite

E-mail : <u>procurementoffice@cvsu.edu.ph / rfqmain@cvsu.edu.ph</u>

Telefax : (046) 889-6373

6. The CvSU reserves the right to reject any or all quotations and/or proposals and waive any formalities/informalities therein and to accept such bids it may consider as most advantageous to the agency and to the government. CvSU neither assumes any obligation for whatsoever losses that may be incurred in the preparation of bids, nor does it guarantee that an award will be made.

ROSELYN M. MARANAN

BAC Secretary, Goods and Consulting Services